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QUESTION 1

When selected by the end user, what does a Solution quick reference link do? 

A. Takes the user to the RSA home page 

B. Displays the description for the solution 

C. Takes the user to the workspace associated with that solution 

D. Displays the solution\\'s navigation menu as a dropdown from the quick reference bar 

Correct Answer: D 

 

QUESTION 2

If a group is associated with an access role and the group contains sub-groups, how will the associated access role
affect the sub-groups? 

A. The sub-groups will be inactivated. 

B. The sub-groups will be removed from the group. 

C. The sub-groups will be associated with the access role. 

D. The sub-groups will not be associated with the access role. 

Correct Answer: D 

 

QUESTION 3

Which of the following types of fields can NOT be calculated? 

A. Text fields 

B. Date fields 

C. Values List fields 

D. Cross-Reference fields 

Correct Answer: D 

 

QUESTION 4

Which of the following is NOT a required attribute for a user account? 

A. User Name 
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B. Access Role 

C. First and Last Name 

D. Notification Subscriptions 

Correct Answer: D 

 

QUESTION 5

Which of the following actions do NOT have the possibility of triggering a subscription notification? 

A. Launching a Questionnaire campaign 

B. Editing the value in a Text field 

C. Deleting a record in an application 

D. Creating a new record in an application 

Correct Answer: C 

050-V5X-CAARCHER01
Study Guide

050-V5X-CAARCHER01
Exam Questions

050-V5X-CAARCHER01
Braindumps

Powered by TCPDF (www.tcpdf.org)

050-V5X-CAARCHER01 Study Guide | 050-V5X-CAARCHER01 Exam Questions | 050-V5X-CAARCHER01
Braindumps

                               3 / 3

https://www.leads4pass.com/050-v5x-caarcher01.html
https://www.leads4pass.com/050-v5x-caarcher01.html
https://www.leads4pass.com/050-v5x-caarcher01.html
https://www.leads4pass.com/050-v5x-caarcher01.html
https://www.leads4pass.com/050-v5x-caarcher01.html
https://www.leads4pass.com/050-v5x-caarcher01.html
http://www.tcpdf.org
https://www.leads4pass.com/050-v5x-caarcher01.html
https://www.leads4pass.com/050-v5x-caarcher01.html
https://www.leads4pass.com/050-v5x-caarcher01.html
https://www.leads4pass.com/050-v5x-caarcher01.html

